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PAPER I

Select the correct statement related to learner centred approach

(a) Pupil is actively involved in the teaching-learning process.

(b) The main function of the teacher is not to instruct but to evoke learning.
Select the correct answer.

SHHCMITH 6L S{EWIE NN QS TLFLITeT FfWmeT Famenms CHIHOHH &80 LD.

(a) nmevoTel T HMLISH6 - HHMEL QFWILLITL 1960 3B HIOMS FFHLIGHIS6V.

(b) A Flwfler WHEH W QFWeLLMH HnflelmisSials6060, LDMTMITES SMHMEN6VS Seuor(H eUsMELD.
Fflwmer LG emevs CHIHOSEH & LD.

A (a) only correct
(a) LG &Fifl
B: (b) only correct
(b) @D &ifl
C: Both (a) and (b) are correct
(a) LDMHMILD (b) @TevoT(HILD &F1fl Wi MeoTem 6l
D : Both (a) and (b) are incorrect
(2) LDODILD (b) GTETOILD F6UDTEITEnEY

2 Which of the following learning approaches allows the students to use their thinking skills in order to discover information and unfold the truth ?

L9 60760 (B 6 60T6U M MEIT 6TIH S ST G5 (LD 6D D) LD ITEBOTeU TG 6T SMHMEN6L &hiGs 6T &\ [H 55601607 B M 60T 6L L 6drLI([H &S
BHHEUHE6TE G60oT(H L1955 2_siorennemnl QauefliL(HSHS HUNH &SR MSI?

A Constructivist approach

SLLeMLOLIL| S{E0G (LMD
B : Behaviouristic approach
BLSDS TS MM
C: Invasive approach
261(HDI6YLD /UGS PEDD
D: Cognitivist approach
SIMlUTDHDE S4ETES LD

Arrange the following is the correct sequence with regard to 'the five-stage model' of conditions required for learning.
(1) Transformation

(2) Presentation

(3) Engagement

(4) Reflection

(5) Exploration.

HHMNEGGS CHemallLme 'Bbal Blenev nmH fluller LilgBlensvgsemer Ll meusoreummleSpb g &iflwimer auflenguiev
CHMISH 0 5.

(1) 2_BLTMHMLD QLIMIGE

) Nen& ) T(H & SIMTSSH60

3) UBRICHEMEEF QFUIH6

* Jrsuedigsey

(5) U1e| QFUIHE

A (2),(1),(5),(3)and (4)
2,1,5,3 0MmIb 4
B: (3),(5,(1),(2) and (4)
3,5,1,2 MHoiLd 4
C: (5),(1),(2),(3)and (4)
5,1,2,3 0HmiLb 4
D: (5),(1),(4),(3)and (2)
5,1,4,3 LDMHMID 2

In which of the following, the learner is expected to take responsibility of his/her learning ?
LOITEOOTEU SH60TSI &HMMEVE & STE6T QUTMILICLMELD &HMMmey 6T60T SMPHEHLILGSRMSI.

A: Programmed learning

G LA L &HmeL (emm



B: Constructivist approach

SLLeMLIL| TS (DM

C: Demostration
QFWSHTLLGY (Pemm

D: Experiential learning
WIS HHM6L.

The main objective of item analysis is to find out the

QUITHET LIGLILmileNeT &R W CHT& SN SHevorL_MIWLILG eUSICS b&Lh

A: Validity of each item
R6UQGUTIH QUITHET 6T QEFLILIQUITESHS STl
B : Difficulty value of each item
R6IQEUTH QLIMTH6r6T &19.60T Blemev LOGHLIL|
C: Reliability of each item
626UQGUTH QLB 60T [5LDLIG & S 60TemLn
D : Usuability of each item

6UQGUTIH QLITHE 6T LIWeTLI(HSSHE Gnlqll &6TeL0

GER in Higher Education refers to :
GER eTetTLIZI 2 _wisevailufley 0&H GOERMSI.

A: Gross enrolment rate
Gross enrolment rate
B: Gross enlargement rate
Gross enlargement rate
C: Gross enrolment ratio
Gross enrolment ratio
D : Gross education ratio

Gross education ratio

Historical and documentary research offers a means of promoting
education.

which seems especially appropriate in a field as diverse and challenging as

29 (LD 60T60] M1 & & 8 8o L9 LI GUTELITMI LOMHMILD 2616007 ST TULIFE, Lieuell G L0meoT 6TH\ [T CIB & & & 6M 6T GG TeoT L
SHevallwlwicy GUIMETM SIeMMEG FMLILITES QUTHHSS Folq WIS

A Logical positivism
&5756 FHUNeumer WMHELIMEG G W6y
B: Methodological pluralism
alflalensLOSSLILL L LIVGHITEG @) ulev
C: Phenomenological inquiry
FHBS S 24 LI Uleumer 'Seuor(G LI Wenm
D: Multi-method Approach
LI6L6UEM & 2§50 (& (LO6M M.

Which one of the following is appropriate, when it is difficult to identify the members of the derived population like deep-sea divers ?
Q&L PG TGy GUMeTM GMILILIL L Q& Ten&UI6Ten T G)60T I &T600T LIS 6T60TLIGI 819 60T LOMTEOTS & LD

LY 6treu (B eleTal M MIET 615 @) &ements GMILILIHG erma!?

A: Snowball sampling

UesflliLIB S QB Tens 6T(H S H60 616N S
B: Quota sampling

STUUMT / STULler] Q& mends 6T(h &S 60 6160 5.
C: Judgemental sampling

BEFTT QF TG 6T(HSH6V 6N
D: Convenience sampling

FHETUFRH&HCHMHLI QS MTem s 61(H &6V EUE 5
Which of the following is a comparative scaling Technique ?

etraumeueotaumniley el ILT () 2jemell(h &6V BILLILD 6TF1?

A: Rank order Scaling
sraflos oeraiih
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B: Continuous rating
QaTLFFR WMt LS LILTH
C: Multiple category scaling
Lieveuends emai(
D: Itemized rating
2 6T6mL &8 G LILTH

Focus group as a method was developed in Columbia University by

GSMULNILL L6t enL W wWenm Q& meulbLiwm usuassmwaaa;ggg@su @QUFGHETITEL 2 (HEUTHSL QUMM

A': Robert Merton his and colleagues
TTUTL QLOJL 6T & 216UTS! [H600TLIT&H6T
B: Morgar and Kruger
DTS & &HEHSHT
C: Feldwick and Winstanley
SQUELaNE & efledreruLmeoTed]
D: Glaser and his colleagues
&HCOTFT & |6UTSI [H600T LIT& 6T

Arrange the steps of research in a sequential order
(1) Identifying a research problem

(2) Specifying the purpose for research

(3) Reviewing the literature

(4) Collecting the data

(5) Reporting and evaluating research

(6) Analysing and interpreting the data

Choose the correct sequence.

L, rmFR 6T Ly sener alflenaFliILIh &S a0

(1) @L,rmMUERUN6T LITEF emeTemn L 365 WIMETLD &T6woT LIS,

) rmERNUWleT CBMEsSmE GMILILNHeug.

(3) @VER WGHMS FLILITULIG] QFUIH6.

(4) BTaYGHaeT CFSHflG 6.

(5) @lla] S|MlGen s WHMID LHILTH QFUIg560

(6) BIeYSen6T LGLILMUIE QF IS0 oMM eleTsaih QFUI&He6.
Fiflwmer auflengenwl 5T HOSH & & LD.

A (1),(2),3).®,(5),(6)
OB G ©
B: (1),(2).(3),4).(6), (5
OH@AG®H )G
C: (1),3),(2). 4,5
MR G ©
D: (2),(1).(3),4),(6), (5
@QOHRHOG G
Which among the following is not the method used for drawing a random sample ?

LY etreupedesTalmMI6T 6Tl (B Ermm mHflenwt eT(H1&8 LIWLeTUGSSLILIGILD (DM S{6V6.

A: Lottery method
GVEHSHE WD
B: Grid system
QUEmELLIEMLOLILY
C: Tippet system
LU 9lemoliL]
D: Census system
& 600TH G &HBHILIL| 2j6emLDLIL]

A portrayal and explanation of social groups in their real-life context is
FeNGG & (D5 56rTl60T 2_6U0Tem LD LITET QUMTLD&HM&HF GLp60l6v, @g,gslﬂuu LDMHMID eNlerg &L

A . Ethnography

@ eoral ey
B: Grounded Theory

I LIl & GaHITLUM(H
C: Retrospective Studies

LN etTCaT &G 2,16 & 6T
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D: Comparative Studies
UL @iie|&6T
In the traditional model of the mass communication process, feedback is

QUGN $&H6I6V QHTLIL QFwewnenmuiler LUl Lnrr@rﬁuﬁlev Nedremm_L_Lb NG )

A: Inferential and delayed
W4T LHDID STOSLDTETS
B: Delayed and declined
SMDGOMOIS! DD GODHSS!
C: Inferential and declined
WYe|emT LHDID GMDHHS!
D: Declined and interpret
GBS S LDMHMID eNeTs o LILIL LS.
The oldest model of communication is based on :
LILDEmLOWIT6OT S86u60 QFTLFL mH il 61 60T 2i1q LiLien L ufeumerai?

A: Pam's model
umdledr r& i
B: Aristotle's Rhetoric
flevLmlig6b QFTHRAUT 6
C: Chuck model
F& wrHi
D: Marshall mclutun model
LOMTFa96V QL& TS 60T nmHif]
Communication which does not include words but communicates a message is

QAIMTSMSGHET @6VEVTINE QFUIH MG QHFleN&@&Gh 56160 QSTLTL] 6157

A: Verbal
Mm@
B: Non Verbal

AMUAWLTY 2euTSH Sl

C: Encoding
GIICY
D: decoding
&G BnsHe

What is the significance of "technologies for communicating publicly to many at a distance" in the history of mass media ?
QEUGHRET 26TL_5 ITTMHMI6 "AFTaneuaillel 2 6T6T LIGIHLET LIS IHISGINNSES QSTLTL QSHTeTalS Mo mer Q& mLlley
BILLITIG6T6r" (n&&W G EIeULD 6T6dT60r?
A They are solely responsible for the evolution of mass media

Slemel DL HIGLD Q6 & 60T 26L& IG5 6rTl6oT LITFl6toT T 66T & &) 8@ L1 QLITMILILITEOT60 61
B: They are one of the key factors driving the development and dissemination of mass media.

2|6l Q61 (G 60T 26L& IS 6rfl60T aUeTJ&FGF MM LITaI6m6V @ W&HGLD (&S W &Tyevoll&erfle spedTm M@
C: They have no significant impact on the social and cultural impact of mass media

SIE06U QEUEG Q6T 26eTL_GHMHIS6Tl6 FNG MWD HOTFFTT FMHEEH O GHUNLSHHES FTEHEEHMS FOHLOSSTS!
D: They are primarily a consequence of the social and organizational structure of mass media.

|6 (LNGHETENLOWIITE Gl6U(E 60T 26ML_55 kIS 6r 16T Fends LnMMILD BlmiaueT &L LenloliL|&erler aflemeTalm@in.
The first press commission was formed in the year of :
wserag LsHIflens sLlaqer ojenndsLlLL L ,600m6H

A: 1952
1952
B: 1958
1958
C: 1968
1968
D: 1975

1975
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A two digit number becomes five-sixth of itself when its digits are reversed. The two dogits differ by one. The number is :
(5 @ T6uoT(hH) G)6V55 6TEUOTEO0T TEUTS!, G601 E@)L_hIGHeM6T LDMHMIDGCLITS! Sl 5/6 611G 6T600T600T T LDTMIHMS!. @) Tevor(h)

@65 amiIgGer e ellGH WIMTFLD 660TMI 6T60T160, 3[HG 6T600T L&D,
A: 54
54
B: 45
45
C: 56
56
D: 65
65

The time of oscillation of a pendulum varies as the square root of its length. If a pendulam of length 44 cm oscillates once in a second, then the length of the
pendulam oscillating once in 2.5 seconds is :

62 (1H 2615601607 2J6m6V6)| CHITLOMTETSI 3G 60T BeTSHH 60T Q&GS MS QUMTHSS TSNS 44 QF LS. Barpen L b
261560 2(H QBMTIY&HG R (MM 2ETFVTHIRMS! 6T60T160, 2.5 QBITILE G R (LM 2e1FeuM(HILD 261560 60T HeTLD.

A: 275cm
275 Q& LS.
B: 275.18 cm
275.18 Q& .L6.
C: 1375cm
137.5 Q&.15.
D: 145cm
145 Q&.L6.

Arjun got 68 percent marks and Arvind got 640 marks in a test. The maximum marks of the test is equal to the marks obtained by Arjun and Arvind together.
How many marks did Arjun score in the test ?

2 CHTa6) 3T 60T 68% GG LGOS 6T QUMHMTT LnMmmIh HFellbs 640 DS LIGLITITSHET QUOHMTY. G5 Telle B &L F
LS IG LIGTOTE: 6T 2 Teg6tT LoMmmILD 2Tellbd @ BelBLd CFIHE QUMM LHLIGLIGITHEHEH S Fold. CHIalley & Fegeir

615 5607607 LOB) 16\ LI600TES 6T 6T(D &S TH?

A: 1260
1260
B: 1360
1360
C: 1400
1400
D: 1440
1440

A bought a cycle for Rs. 1500 which he sold to B for Rs. 1200 after a year. Find his loss percentage :
A eTeTLIOT 6 LG 6U6DoTIq 60U €1h.1,500-8:@& GUIMTBIS B 6T6dTLIOU([HE @ @ 6UBHLLD (LPIQHSSID eb.1,200-8 & eNMmIT eT6oflev
SQUHEM LI gL FSNGR SO

A: 30%
30%
B: 25%
25%
C: 20%
20%
D: 10%
10%

If MACHINE is coded as 19-7-9-14-15-20-11.
How will you code DANGER ?

"MACHINE" 6T60TLIGI 19-7-9-14-15-20-11 6T6o18 GMIWILL M6V "DANGER" eT6dTLIGI 6TLILILG. &MWL 6UITLD

A: 11-7-20-16-11-24
11-7-20-16-11-24

B: 13-7-20-9-11-25
13-7-20-9-11-25

C: 10-7-20-13-11-24
10-7-20-13-11-24



D: 13-7-20-10-11-25
13-7-20-10-11-25
'Water' is related to Ocean in the same way as 'snow' is related to

HE00Ter0 ' L SVIL 60T QSTLIL L WS 3165 audluilev Lieof] 2 L 6T QSMLIL6mL WG

A: Glacier

Uenflll Limemm

B: Peaks
G &I HIG6T
C: Hail

SLEVMIGLLY LDEMLD
D: Mountain

L0 60) 6V
Find the correct alternative.
Flying : Bird : : Creeping : ?

Frflwmeot LMD/ &evorLplwie|d
LM&@LD: LIMmemel :: SeupLd:

A Aecroplane
eilLomeoTLd

B: Ground
SHenly

C: Flower
LL&86IT

D: Snail
BSNS

If red is called orange, orange is called blue, blue is called green, green is called black and black is called brown, what is the colour of coal ?

Faulll BImGHens 2b,TEH5 eTetralld, 9L TEha BImGens Heulh erara]ld, Hev BIMGENS LIS & eTauralld, LIFen& BlMSemns S (HLL
6TauTe LD &BLIL| BIME S LILPLIL]| 6T6Ta| D Fnnileormev Blevs & iflufledr BlmLb eTedreor?

A Black
SHLILY
B: Brown
LUy
C: Green
Lugeng
D: Blue
Beuld

Statements : Morning walks are good for health.
Conclusions : I : All healthy people go for morning walks.
11 : Evening walks are harmful.

Choose the correct option :

FnDml: STV HemL LUNDHE 2 L6b HevsHM& Hevevg.
W96 I: AT LG TSGR WIDTETEUTSHE@FLD &Memev e L LIUIMHE CLmASTeTR 6TMIT.
W19.6] II: IDMemeV HeMLLIWLME 2 L upevsHMHE& CoH @0 aflemeralld@Ln.

A: Only conclusion I follows
Y| I GG QBSHESLD
B: Only conclusion II follows
we I LGHEL @ @HEEGLD
C: Either conclusion I or II follows
W16 1 3j6V6ugI WPIg6) [l @BSHGLD
D: Neither conclusion I nor II follows
eI OHMID 96| I @ TG G @) (HSHETS

If in a certain language, MIRACLE is coded as NKUEHRL, then how GAMBLE coded in that language ?
@M GOIUALL Quriluiléy MIRACLE 6T6TLIgI NKUEHRL 6T6oT @G MléaL1LL (Hl6Tengl eTedrmmey bd QLomisluley GAMBLE
erauaumm GMOIUILLILG&HmSI?

A: JDOCMF
JDOCMF
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B: CLEMNK

CLEMNK
C: HCPFQK
HCPFQK
D: AELGMN
AELGMN

The data given below represents a sample study about the coffee habits in two towns.

Town X Town Y
Atribut Total Total
Males | Fernales Males | Ferales
Coffee drinkers 16 9 25 18 10 28
non-coffee drinkers | 34 39 75 37 35 72
Total 52 48 100 55 45 100

Find out what percentage of male Coffee drinkers in Town X and coffee drinkers in Town Y.

£Cy QanflasuulLflereT ey Biysirh) marmsefls e srer sma SymbHED Lsskesst ubmiw wrdlfl suiey
BB,

HELD X HETLD Y
LIGUOTL{&6TT
ZuEmese | QueimssT | Qorssh | ssmser | QuesmssT | GLomssn
&Ml
S bgLeTEST 16 9 25 18 10 28
{t]] 72

Lo BORDS I 39 75 37 35
B HBHTHEUFHET

Qongsin 52 48 100 55 45 100

X mansElsn sl SymbHID SETTSsT WHIID Y hersdles smil oy mhsusuFesflsT &5aefHshaemeT sirsms.

A 16%, 55%
16%, 55%
B: 16%, 18%
16%, 18%
C: 16%,28%
16%, 28%
D: 52%,55%
52%, 55%
Given below are two statements :
Statement (I)A histogram is a graphical method for presenting data

Statement (II)The frequency of the observations is depicted along horizontal axis.
Choose the most appropriate answer from the options given below.

BB @\ T6oT(® G (D MIG6T Q& IT(H &G LILIL (B GT6T6DT.

My I: QF6I6IS aUemTLIL LD SFellener FLFLILILSME TeoT 6(H 6U6MITLIL (D6 M/

Fa i 11 Sev0TL_M6S elleurmigerfled Bl&Lh6e6euetor Henl oL L AFFRL PG SfEE UL H6TETSI.
FECL O&EMH&sLILL G dTaTanalssafedlBhs L&a|h QUTHSSm LFHame CHIHOS0.

A Statement (I) and Statement (IT) are correct
Famm 1 IDMHMID S mmi 1T FiflimeTenel
B : Both Statement (I) and Statement (II) are incorrect

Fa MM T LDMMILD Fo MM 1T @) F6eooT(H LD &6UMTEOTEm 6.
C: Statement (I) is incorrect and Statement (IT) is correct

FaMml 1 UM Gnmmi 11 &l mers

D: Statement (I) is correct and Statement (II) is incorrect
Fa Do 1 &Fifl (DHMID Fa Do T HeUMTETSI

The width of size class in the following data is:

Size class Frequency
0-10 5
10-20 11
20-30 19
30-40 21
40-50 16
50-60 10
40-70 8
70-80 ]
80-90 3
90-100 1
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EPETEYILD HTeTl60 266 266y eUsmSHUIIeHT 2&6uLD.
2676 UENSH Hl&LD Gleusnor
0-10 5

10-20 1

20-30 19

30-40 21

40-50 16

50-60 10

60-70 8

70-80 6

80-90 3

90-100 1

A: 10
10
B: 5
5
C: 20
20
D: 30
30

Population figures published by the censes commissioner are data.
D& GHET QTN &eiTE6 & (BILIL| L6metor T me QeleuilLILI(RID D& &6T Q& Tend 6T600T6001 1860085 SI6HETTGSLD

A Secondary

@) JEOUTLITLD [Blemey

B: Primary
(W5 eofleme

C: Both Secondary and Primary
() LDHDID (B)

D: Sample
il

The Subset of a population used to collect data is known as:

Frasmers CFa el LWeTUmMSSIUGLWD WWeng Q5 ME L6 Sianeors W Lleral(hLmm Senpa&saLliLGSmS :

A Survey
&H600T&H G & (HILIL]
B: Sample
il
C: Population
LYo 0FTSH
D: pilot study
(PETGETITLY 2y Ul6Y
What is RFP ?

RFP 6T60T M6V 6T60T60T?

A: Request for Plan
Request for Plan

B: Request for Providers
Request for Providers

C: Request for Print
Request for Print

D: Request for Proposal

Request for Proposal

Which of the following software DOES NOT support to establish a virtual School/University ?
GGG 600TL. QLT LITIB6l6L 618 QOWIBIGT LiaTerfl/LIs0&HeneusL0ah BlmiaalsmE& 8T eflliLG evensn?

A: Google Meet
Google Meet
B: Blackboard
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Black Board
Desire 2 Learn
Desire 2 Learn
Moodle
Moodle

Identify the key considerations of the planning process of a e-learning design :
1A 6dT — HMHMEL allgeUen LI N6 B L AL 6L Q&F WL MUINEDT Fn MIGEDI6T 60 LLLITETLD & MeuTayLd

A:

Tutor, Audience, Computer

AWy, LUMFenelwmer(y, &evofleot]

Blackboard, Audience, Tutor

S(BLLIVEM S, LITTemau I meTy, @ flwy

Audience, Resource needs, Proposed Learning Outcomes, Assessment needs and methods

LITTemeUWTeT, G566 WLIM6oT 6U6T L& TIMHI&ET, (WeT@QWmEwiiul L &Hme e, HLILTE CHameausser mmild
LPEDMSH6T

Audience, Computer, Blackboard, Tutor

UMFenelwmen(y, &evofleot], &@mLOLIeVem S, LS flwii

Which one of the following is NOT an educational technology production unit ?
N etTeueueTeumnlev 6181 &6Vl QSTUEIL LI 2 HUSH D60 26V6v?

A:

ETC
ETC
SIET
SIET
EMRC
EMRC
AVRC
AVRC

Web indexes provide a search facility to help users locate resources. Choose the incorrect web indexes from the following.

alem6eL GMIUTH G 6T LILIGT T8 @68 E b5 T HIGHm6TE &60oTL_ M 2 S5 D GS5L 6V UFSH 60 aULPHIGR M & G L& & 600T L6 M M6t

SHaUMTeT alemev GMIUTL 1 eneT CHTHOSH&HE]LD.

A

http://www.yahoo.com/
http://www.yahoo.com/
http://www.webcrawler.com/
http://www.webcrawler.com/
http://www.bizweb.com/
http://www.bizweb.com/
http://www.search.com/
http://www.search.com/

Which of the following is not a common soil metal pollutants ?
LY etTeu (HeueTau MMl 6L 6T6uTEl QILITSI6UT60T L06voT 2 GeuMS: LOM&LIHSSH 216060?

A:

Cadmium
Srlidlwib
Mercury
UM&J&FLD
Cesium
FerllwiLd
Lead

smifwib

Which one of the following is a Pyrethroid Pesticide ?
Wereueuetmilev etemar enuflGImih LEFRSHQ & M6 &L

A:

Fenvalerate
QUeTCaIVBTL
Carbendazim

ST UTLH LD

Ziram
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&b

D: Carbaryl
smiuflev

Identify which characteristic will be exhibited by Carbon Monoxide poisoned person.

SITTLIGT QLDTeoTTEenerv(h allag b G1& Tesor 6(HeUT TV 6THS & 6toT TH & WD QeueflliLBILD 6T6dTLIEN S &6v0rL M UiaLD?

A: Yellow colour of the flesh
Fen & W6 LDEHEF 6T BIMLD
B : Black colour of the flesh
Feng W6 &(HemLn BIMLD
C: Bright pink colour of the flesh
FangWler @emesFeuliL] BImLD
D: Blue colour of the flesh
FengWiler Bev BIMLD
Which of the following human activity resulting the lose of genetic diversity in fishes ?

FELDGHGHTEvID 6TalaImS L060flE L al)&Hemns Weraearfler rusm afliflin @LLiinG Si9CsTaHma?

A . Hatcheries

GE&EUTllusD
B: Overexploitation

L) 600 & & &+ [7600T L6V
C: Pollution

LOI&UM(H

D: Hydropower
Byufletr e4HM6V
Select the correct option of the features of National Policy on education 1986.
a. This policy provided 10+2+3 system of education at the national level.
b. It provided equal opportunities to all for education.
c. Special emphasis was given to women education.

d. Adult education was introduced to remove the illiteracy from the mass.
Options :

1986607 GHFW Hevalls Q& MeTemn & WiletT 2jlnFmigGeneTll Limmlw Fiflwmer ell@GLiuUSCHTalenear CHTHO S0 &S| D
a) @HS& Q&METn s CHF W 3f6malley 10+2+3 &Hevall (PMED L QILPBEIR WIS
b) @8 Hevalluiley 2|eMETE([HE LD FLOGUTILILILIG&HED 6T 6ULDHIS W S
¢) QLIeuoT S6LaM& @ RMLILITET (NE&ER WSSOI Q&HTHEHELILLL &I
d) sevallwplalleTeninem QUGeUTHlWImeT &6 LIABHS S&HNaSMHETS el albCHTH seval
P WPsILGSSIULL S
ANBLILSCSHT6S6T:
A: a,band c are correct
a, b LDMHMILD ¢ FflwimeTeme
B: b, candd are correct
b, ¢ LnHMILD d FflwimeTeme
C: a,candd are correct
a, ¢ LDMHMILD d Fiflwimesremeu
D: a,b,candd are correct
a, b, c LDMMILD d FflWmesTemal
The was appointed for the 'Renovation and Rejuvenation of Higher Education'.
2 wisevelenl LigiennliLh&Seh LeTFening &6 L MGG LGl

A: Prof. Yashpal Sharma Committee
GUIIT. WeQLITeL aQIJLOIT & (LD

B : Mudaliar Commission
WEOWTT GW

C: Acharya Narendra Deve Committee
FEMTW BEIHET HCa G

D : Radhakrishnan Commission
@S T (B 619600760 & (D

The British set up the first college based on the western model of formal education in India at serampore near Kolkata in

SLBIH CeWITSHET @BSH Wwmeley CLoM&ESHIW (WeanmETT &Heuall 9jig LiLiemLufleh &6 Hevarflenul G]a;rra)asg,gsrrsﬁ]m@

BB a6Ter QFTDLLIfleL @6V Bl GOTTI& 6T,



A: 1818
1818
B: 1825
1825
C: 1860
1860
D: 1872
1872

Case Study from Question No. 46 to Question No. 50

46

47

48

Comprehension :

National Science Day

National Science Day is observed in India every year on February 28 to commemorate Dr. C. V. Raman's ground breaking discovery of the '/Raman Effect' on
that day in 1928. This significant achievement earned him the Nobel Prize for physics in 1930, making him the first Asian to receive this honour. Dr. Raman's
ability to find science in ordinary things revitalised scientific curiosity in India.

The celebration of National Science Day shows the importance of science in our lives. Activities such as speeches, radio programs, TV shows, Science movies,
exhibitions, debates, quiz competitions and teachers are organized in schools and colleges to highlight the role of science in creating better systems and
improving our understanding of the living world.

Dr. Raman's advice - "Ask the right questions, and Nature will open the doors to her secrets" - Serves as an inspiration for future scientists. As we celebrate this
special day, let us foster a scientific mind-set and encourage curiosity, striving to be the future discoveries of new scientific wonders.

yrflzev:

Cs AW 9 Meflwey Heord

G5 W SiMlaflich Hleorid 1928 Sylh ,6u0TI960 L& §.6eM. 70T 'Tmnet aflemeremel’ &600T(HLI1q.&5 5605 [Bl6mesTe) Sn (HLD
Qe & U6 eI UM SLevor(ID LILiTeur] 28 oi6oTm @BH Wmailley SieFfl&EaslILGRME. @bs G S5855 &M emeor
IQUHEHSG 1930 @60 @unLlwassmer GHITLG LUflensll QUMMIS FHES!, @HS Q&HeTTalSemnL1 QUMM (LNS6V

A WrTerTy. Frgmyer aflaqwkiserfle sinflaflwemnevsd eI &@& L LTsLT Frnefler Hmerr @nb&wmailey oimfleduwisy
asms USsIuly QUODS!.

G W SiMlaflwich Hleors S 6T Q& mevor_ ML LD B eurpellev nflellwieller (&R WS SIaGmSE ST OB M.
QEMHAUTLI6 56T, MG erTed Bl&HhFR ST, QSTamaHETL S BlGLPFR &6T, 3mlall ey HlemTLILIL MhIg6T, &6uoTss ML G &6,
Nl migeT, aflermiq ellerm CUITL Q86T GUIMETM Bla&LhFR SGeT LiaTeflam6T nmmild &evauniflgertley gmum
QFEWWLILGGRBTMET, @ HBIGDEST AMHS 2DLILI&H6T 2 (HalM&HGSH NI, ML 2 &S &SI MM HLog
yilsemev GubU@GSSIeuB aviid Sinflefwiedsr Likiens eT(HSSIGHSTLHH M.

L& grneoflet sinflejeny - "gifluimer CoHeTalle:emend: Go @b mhig&6T, @ UM SHeTsl IS WIS EHS STl &56) 56065
FMEHGSLD" - THFTHT6V 6l EhEh el 15 EH 5 & 2 (h 2 5CaIGHID 6aflEHRmEl. @b F\MLUILITET [HTen6Td G & mesorL_M{H LD
GalemeTuiey, oiMlailuiey LneTBlemeueml aIaTTS S, SLTaIGSn s 2615 @Gall Sl LS W SMlellc) o5 & UWhIgGean6rTd
HeooT(HILN 19 &G LD eTH T8 MoV 66hEhTesl1&H6TTS MM WWMHS LIGLITLD.

What day is celebrated every year on February 28 ?
R6UQGUTH 6T LNLiTeurfl 28 oi60TMI 6TH& BITET Q& Metor ML LG mSI?

A: National Physics Day
CsAW @uImLilwe Heorib
B: Raman Effect
TG el6m6Te
C: Raman Day
JITLD63T HeoTLD
D: National Science Day
CsHA W simlaflwicy Hleorld
What is emphasised on National Science Day ?

G5 W SiMlaflwich HleorsH 6V 6uedlumIs S LILIH S 6TedT60r?

A': importance of lives
2 Wijsefler (n&H WSS au0n
B: importance of celebration
Q&TEOTLTL LSS 6T (&R WS Sialn
C: importance of Science in our lives
BLD eumpeiley oinflafwiel6r (&R WS SIaILD
D: importance of TV shows
QBMTVESTL G BleLhFR G 6T (&SR WSSIaID
Why are activities conducted in schools and colleges on National Science Day ?

CsAW siMlaflwiey Hlergseorm LieTer], Hevauiflgerflev BleLERGHET BLSSLILIB S J60T?

A: To highlight the role of science
nflellwedetr Lillenss (neiTesflemeuliLI(H &S

B: To improve life
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AUMPHMEHMW CLLUBSS
C: To show celebration
Q&MEOOTLTL L &6M&H& ST L
D: To be happy
IRPFRAWNS @) [H&HS
What did Dr. C. V. Raman discover ?
L&l H.e0.5mner &eoorQLN.55 5! 6T60Teor?

A Raman Defect
TMTLO6T G6emmUT(H
B: Raman Effect
TG el6m6e
C: Raman Affect
TG LIS
D: Raman Reflect
et LF& LedliL
Which year did Dr. C. V. Raman receive the Nobel prize for Physics ?
L&l G.e0.Jmne 6Ths 2b,600T(H @umLIwensasmer GBmL6ew Lflensgl QubmTr?

A: 1928
1928
B: 1982
1982
C: 1930
1930
D: 1903

1903



